Unit 3 Review

1. Answer the following questions using the graph provided.

a) What is the quantity on the x-axis? January Temperature vs. Latitude
b) What is the quantity on the y-axis? . 5"\'\\"\'.\‘
5 H . * o= g ; <
Temp in DJan. in°F i I N La
§ ; ) \ i
c) State an approximate value for the i * m‘{.‘ ‘
correlation coefficient. % ! LA

r=0.%5

Latitude
d) What does the point (30, 57) represent?
Wit o \aktvde of 30 Abe demperayure N Jan.
W\ ke sFoFE.

e) ldentify an “outlier” point and write it as an ordered pair (x, y). What does this point
represent? (4sS,S . %UD

Thot o o \oritude of U‘S the dempercaure i
danuary  would e 39°
f) Write a statement to summarize any conclusions you can make from this data.
AR latmvtude Thareasel +he temperature 1N
JoNLVOrYy  decreases.

2. Find the mean, median and mode of the following data sets:
a)s5, 3,2, 6,5,2, 5

eon= 28 2,2,3,%,5.S,k range= -2
' 4 meaian =
Mean= Median= S Mode = S Range = 4
b) 14, 9; 20, 5, V7, 13
g,q,\% i TRl B
Mean = 76 P rong e=20-S
y\ec\\c\“" *L

Mean= 13 Median=13.S  Mode =NCME  Range= | S



3. For the box plot below, find the median (Q2), Q,, Q;IQR (interquartile range),min. and
max.

Q1= 301
Q)= SO
Score Q= S5
larR= $S-39 = e
Min= 30
Max = (K‘%
4. Draw a box plot for the following data.
40, 80, 90, 90, 100, 120, 130 i 205
Q, - 80
@, = 40
— — Q= (20
_—— L Mo = 130

b § g ; y 4 ¢ 4 { i
20 Ww SO ko Fo B0 G0 W \D I PO |4o

5. The box plot below shows how much time was spent per night on homework for a
certain class in high school in September.

Average Minutes Per Night Spent On Homework

— |
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a) What percent of students spent more than 60 minutes on homework per night?
2 S D,o.
b) What is the range of times that the middle 50% of students spend on homework
pernight? (v -2.0O MW LS.

c¢) How many students do not do homework? LN KINOWN .

d) What percent of students spend less than 20 minutes per night on homework?

28"l



6. The table below shows the results of an experiment for dahlia’s grown in compost beds.
Dohliad Growth.

Weeks Median Height in 4
Compost bed (in.) i
1 10.00
2 13.50 > 150
C
-
3 17.786 s
Z
4 51.50 ,g? y
100
pr
5 30.50 ¢ i
S :
6 40.50 T v
a 4
7 65.00 . 1z
o ok b sk Ao ,//
8 80.50 o LI TEETT
9 91.50 “" < By
weegs
a) What is the independent variable: _\W €<
b) What is the dependent variable: "¢\ \(\C\\E\’Y\-b W ComposE bed L'\‘p'>
c) Graph the scatter plot.
d) State any outlier point(s). (4, S\. SD>
e) Draw a curve-of-best-fit (removing any outliers).
f) Is there a trend in the data? If yes; then describe the trend (strong/weak,

positive/negative, linear/non-linear). _ )
8*\“ron5 , Pemvtive non- \naoie Correlafion.

g) Estimate the median height of a dahlia after 10 weeks.Show your work on the graph. Did
you interpolate or extrapolate?

e, Median heighe N Yhe  compest ped ofter (D weeks
IS opprvameily 120 Inches. This IS exdrapoiahion.

h) Estimate the number of weeks it would take for the median height of the dahlia to be 21
inches. Show your work on the graph. Did you interpolate or extrapolate? _
e woeold tave  aggreximet\y 3. T weeks for the
edion height oF  the  Tom@ost bed 10 e
2\ vnNChes. T IS \V\J‘ffo@\cﬁ\ nal



7. There are 900 students in a school at the start of the year. The number of students
increases by 2.3% per month.

a) Complete the table to show the number of students at the end of each month for 10
months. '

Time (months) | # of Students

b) Is this an example o@)gciigt_i@\,or depreciation? (circle

O 400 | one)

| [9zo.H

p) C\'L\\ q c¢) Write an equation to model the student population, P, after t
A G02.5 months. 5)’(:

: = qoo (.02

4 [4es.3 ¥ = qool
S 1008, 4 d) Use your equation to determine the number of students in
o 103\._| the school after 12 months,
3 [ioss.3 p=doco L1-023)"
S [1039.6 P= 1B2.306.

b

4 L\\\Q e
8. $3ZOb is investe& for§ years at 3.5% simple interest annually.
a) Is this relationship linear or nonlinear?

Lineayr

b) Write an equation to represent the total amount in the account A, after n years.

A=3200+ 3200(0-035)N.
A= 3200+ 12-q4bon
c) How much is the investment worth at the end of 5 years?
A =3200 + 112.96(5)
= 3o . BO ! -
2 The invermern s worrh 233,80 oiler & Yeris
d) How much interest was earned on the investment?
3HbY. 20 - 3200 = ShH. DO
e ineresk earmed oas 350480
9. Due to the current economic environment, your $40,000 investment is depreciating at a
rate of 15% annually.
a) Is this relationship linear or nonlinear?

Non- Wnea

b) Write an equation to represent the total amount in the account 4, after n years.

A= Loooo (0-85)"

c¢) How much will your investment be worth at the end of 3 years?
A= toono (0.8S)°
= 2USbS , =
SoThe  Wnvesdment As woryh  d24SeS
d) How much money have you lost in 3 years?
HO 00O - 24SLS = | TH35

SN 3 \df(}(s &DU have  \eS

otyer 3 HCC‘%'

¢ $\S H3S.



10. Hana starts with $40 in her bank account and deposits $20 each week. Jaydan starts
with $100 in his bank account and deposits $10 each week. it
a) Define your variables. _ N ClCouriy (N
lex A repleseny de  amoont in the oo

b) Write two equations to represent the total amount in the bank account at the end
of each week.

Hana: P\H S 20{5 + 4o Jaydan: /-ks-j‘ = lO’C + 100

c) Use your equation to fill out a table of values and graph the two relations.

Hana's & Saydan's 8Alonces

Hana: Jaydan: H AH’Z&*%

2 HO o oo | 3 T 4P

l 60 \ W C ‘\é u
= -'80 2 | 2.¢ 3 51 —

S 1 OO 3 \ D g

4 120 Y 14 C * 4

S 140 S = Lo

b Lo © © | O t
q— \80 3 \ t‘ O g

g 5e
“t L1 ] \‘O;

¥ o weexs
d) What is the solution to the system? What does it represent?

(o) D o
HC\!\Q) arg) - Seydan bath have S0 in Fher?

olioonts agfyer O Weeks.

e) If they both were saving up to buy a new Nintendo Switch that costs $400, who
would have enough money to purchase it first?

S | ., ° Hano. woold
& H 206 +40 /\_) - \o& t\16C \We/ @noo_ \;\y\-
OO = 20k +HO HoO= Lo+ (X NON €Yy ¥,
Uoo -HO = Lo Loo-\10o= \ok
O = ° 200 = 10 ©
20 20 ¢

=30
- 18



11. Your school is donating items to the local food pantry. Your homeroom is having a
competition to see who will donate the most items. You have already donated 14 items
and plan to donate 3 more each week. Your friend has already collected 8 items and
plans to collect 5 more items each week. How many weeks will it take for both of you to
have collected the same amount? How much will each of you have collected at that
time?

a) Define your variables. '
lg)ﬁv A reprseny  Yhe AONG omeont ot

lexr € " the ¥ ot weeds

Hems d&f\dﬁd

b) Write an equation to represent the total number of items collected.

You: Ay=3E A Your Friend: Ap-5L O

c) Use your equation to algebraically solve for when you both have collected the same
amount of items.

A\/:‘!\;‘:
3 4 =5k € B Py=3E Y
A Ay=3(3)t\
N = g4

RT3 Wy 23]
-3 (8,23

* W Wi\ Yave 3 \wceees Lov  loovrn of US
to Coleck 23 (Xems.
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